

True or false

Are the following subtraction facts True (T) or False (F)?

$$\frac{6}{9} - \frac{4}{9} = \frac{1}{9} \quad \boxed{\text{F}}$$

$$\frac{2}{3} - \frac{1}{3} = \frac{1}{3} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{5}{10} - \frac{3}{10} = \frac{2}{10} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{3}{4} - \frac{1}{4} = \frac{1}{4} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{2}{8} - \frac{1}{8} = \frac{2}{8} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{3}{5} - \frac{2}{5} = \frac{1}{5} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{4}{7} - \frac{1}{7} = \frac{3}{7} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{4}{4} - \frac{1}{4} = \frac{2}{4} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{5}{6} - \frac{3}{6} = \frac{1}{6} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{4}{5} - \frac{1}{5} = \frac{3}{5} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{5}{9} - \frac{4}{9} = \frac{1}{9} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{6}{9} - \frac{5}{9} = \frac{2}{9} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{8}{8} - \frac{6}{8} = \frac{1}{8} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{6}{7} - \frac{5}{7} = \frac{1}{7} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{2}{2} - \frac{1}{2} = \frac{1}{2} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{6}{8} - \frac{4}{8} = \frac{3}{8} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{10}{10} - \frac{6}{10} = \frac{3}{10} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{9}{10} - \frac{6}{10} = \frac{3}{10} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{7}{9} - \frac{2}{9} = \frac{5}{9} \quad \boxed{\phantom{\text{F}}}$$

$$\frac{3}{5} - \frac{1}{5} = \frac{1}{5} \quad \boxed{\phantom{\text{F}}}$$

True or false

Are the following subtraction facts True (T) or False (F)?

$$\frac{6}{9} - \frac{4}{9} = \frac{1}{9} \quad \text{F}$$

$$\frac{2}{3} - \frac{1}{3} = \frac{1}{3} \quad \text{T}$$

$$\frac{5}{10} - \frac{3}{10} = \frac{2}{10} \quad \text{T}$$

$$\frac{3}{4} - \frac{1}{4} = \frac{1}{4} \quad \text{F}$$

$$\frac{2}{8} - \frac{1}{8} = \frac{2}{8} \quad \text{F}$$

$$\frac{3}{5} - \frac{2}{5} = \frac{1}{5} \quad \text{T}$$

$$\frac{4}{7} - \frac{1}{7} = \frac{3}{7} \quad \text{T}$$

$$\frac{4}{4} - \frac{1}{4} = \frac{2}{4} \quad \text{F}$$

$$\frac{5}{6} - \frac{3}{6} = \frac{1}{6} \quad \text{F}$$

$$\frac{4}{5} - \frac{1}{5} = \frac{3}{5} \quad \text{T}$$

$$\frac{5}{9} - \frac{4}{9} = \frac{1}{9} \quad \text{T}$$

$$\frac{6}{9} - \frac{5}{9} = \frac{2}{9} \quad \text{F}$$

$$\frac{8}{8} - \frac{6}{8} = \frac{1}{8} \quad \text{F}$$

$$\frac{6}{7} - \frac{5}{7} = \frac{1}{7} \quad \text{T}$$

$$\frac{2}{2} - \frac{1}{2} = \frac{1}{2} \quad \text{T}$$

$$\frac{6}{8} - \frac{4}{8} = \frac{3}{8} \quad \text{F}$$

$$\frac{10}{10} - \frac{6}{10} = \frac{3}{10} \quad \text{F}$$

$$\frac{9}{10} - \frac{6}{10} = \frac{3}{10} \quad \text{T}$$

$$\frac{7}{9} - \frac{2}{9} = \frac{5}{9} \quad \text{T}$$

$$\frac{3}{5} - \frac{1}{5} = \frac{1}{5} \quad \text{F}$$